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111 B.TECH Il SEM MID-II1 EXAMINATIONS
DESCRIPTIVE QUESTION FAPER

Name of the subject [OPERATIONS RESEARCH Duration 90 MINUTES
Date of Exam 20,08.2021 AN BRANCH ME
HT NO. Sign of Invigilator
ANSWER ANY THREE QUESTIONS MAX 30
S.No [UNIT |, Bleoms gy QUESTION DESCRIPTION MARKS
: Taxonomy
() Write a short note on Characteristics of game theory 2
(b) What is Jockeying in Queuing Models? 2
I | Il |Understand CO4 (c) What is AOA Diagram? 2
(d) Write Applications of Dynamic Programming. 2
(e) Define Total Elapsed Time and Idle Time. 2
Solve the game whose pay off matrix is given below
3 2 4 0
2 | I | Apply | CO4 3 4 2 4 10
4 2 4 [
0 4 0 2]
¥
(a) Explain saddle point, 2
{b) What is Balking in Queuing Models? 2
3 | IV Remember COS [(c) Define Total Elapsed Time? 2
(d) Write Applications of PERT & CPM. 2
(e) Write a note on Decision Tree, 2
For a Project the details are given below, Draw the network diagram and find the critical path and Project
time.
4 IV | Apply COS5 Activity A B [ D E F G H ] 1 K L 10
Dapendence 0 - BC | A c E E DEH|E 1] |G
Duration(days)| 10 |5 6 9 7 [ 10 |9 7 B 9 3
Find the Shortest path
Jn Distances
1-2 8
-3 7
1-4 1
2-5 3
3-5 9
3-6 9
3-7 8§ 10
5 v Apply CO6 4.7 10
5-8 12
5-9 7
6-9 9
79 6
7-10 13
8-11 4
9-11 2
10-11 15
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r _ OBJECTIVE QUESTION PAPER - . |
Name of the subject OPERATIONS RESEARCH | Duration ~ 20MINUTES |
|Dale ofExam 20, 082021 AN ~|BRANCH T ME S
:HTNO._ A O B | Slgn of Invigilator
: - ANSWER ALL QUEST]ONS R T
|S.No UNIT QUESTION DESCRIPTION - ' ' ANSWER
; [ Whlch one of the followmg |s not a key opcmtmg chnraclerlsuc for a queving syslem? : o B i
r | i = o A;é}age time spent for
| | IA. |Uul|zatmn factor B. [None of the above 'C. [Percent idle time D. I::::;:g in System and |

| | The actlvny which can be dclayed without affcctmg the excecution of the immediate succeedlng activity is determined [
2 |1V by.. - .

| : lA. ﬂndependenl float B. Total float ~IC.'none - " D. [Free fMoat -

| [The game is said to be fair, if ' . [

'3 |y | Bothupper and lower St B i

| .
A values of the game are B ‘None of the above 'C -Upper and lower values Upper value is more than

| ) .! B | lsame and zero, B | of the game are not qu.ll.'.l.] _ IIower value of the game. |

| 4 | v In PERT the span of time belwecn the opurmsuc time estimates of an actl\_my is. S i s [
|A 14 sigma B, 12 sigma E} 6 sigma D. 3sigma |

,5_ J :'I_'h_;é_sme of the p payoﬂ' [ matrix of & game can be reduoed by usmg the pl:muple of o _i _ ' ] [
/A, Rotation reduction B. Gnme inversion 'C. Dominance . Game lranspose

L., [Theslack for an acuvny is equal to -

SV R LS B, 'LS-ES ' ~ CEFES ' T DstF !

P, RN, s o L, !

| m [_'EE@ rate is faster B Avernge wamng time of | Capac:ly of the system is | [Arrivals are ¢ independent
| 'lhan the arrival rate [customers in the system. [~ mﬁmle " lof each other
|_ | E Whal are the methods to fi nd lhe * slep by step Analysis
8 | v ——— et IO —— ——er
| | .A. Cargo Load Problem B. E:g)l;::lmBudgelmg IC AII D. Stuge Conch Problem
[ f - whu:h Recursive Formulae is used in Dynamic Progrummmg - ' = ' i
oV ' .
! : A. E;II ll ﬁ:l[:l; il s ;‘:gﬁfg:lng — C. Minimax Principal TD. MaximinPrincipal
10| A mixed strategy game can be solved by ' '
[ ' A, 'Matrix method B. Algcbrmc method C. Graphical method D. il '
Two person zero sum game means that the |
' 1 m | |Sum of losses to one | Sum of losses to one
A. None B. iplayer is not equal 10 the C. Both Aand B player equals to the sum
( i q | |
| | sum of gains (o other i iof gains to other
| |2_ [ |The another term commonly used for activity slack time is ... :
| A, Indcpcndent float B. [all iC. Total float D. Free float )
B T the activity has zero sl ack, |t implics that ., ’ |
| 131w .A. Itis a dummy activity %ﬁpmJCCI progressing [C. none D. It lies on critical path
14 1 Which symbol descnbcs the inter-arrival time distribution?
E i A M B. lAl cD _ D..G
[ [ A éallmg populauon is considered 1o be infinite when..
| 15 | Ul [ |Armivals are dependent |~ Al customers arrive in Advivals are mdepcndenl .
! | lupon each other B. !A“ of the sbove C. time |~ |of each other _
' If the activity has zero slack , it implies that _ -
v
16 [ 1 A. none B. It is # dummy activity [C. Thfl project progressing D. It lies on critical path
17 [ i The pnyoﬂ' value for which each player in a gumc n]wnys selects the same stmtegy is called the

A none B. Equ:hbnum paint _|C. BathA and B D. Saddle point



